



GOVERNMENT OF KARNATAKA



HUNSUR DIVISION, HUNSUR

Project proposed under CSR Fund

**Hunsur Forest Division – Frontline Staff Welfare and
Residential Infrastructure Development Project**

Project Cost: - 200 Lakhs

HUNSUR DIVISION, HUNSUR.

Sub: Projects proposed by Karnataka Forest Department under Wildlife Sector for funding through KFWCCMF

The details of the projects proposed to be undertaken through CSR funds from the KFWCCM Foundation are requested to be submitted in the following format, with i. One page Note, ii. Line Estimate & iii. Local Map

Sector	Particulars
Name of the Project	Hunsur Forest Division – Frontline Staff Welfare and Residential Infrastructure Development Project.
Proposal submitted by Unit	Hunsur Division, Hunsur.
Total Project Cost (Rs. In Lakhs)	200.00
Coverage /Area (in Ha) & Forest Block	Division Headquarters and Beat Level Residential Areas under Hunsur Division.
Project Duration- In Years	2 years
Project Implementing Agency: Department/Funding Agency	Karnataka Forest Department.
Objective of the Project	To improve the welfare, living conditions, and operational efficiency of frontline forest staff through the development of modern residential facilities, welfare amenities, and infrastructure upgrades within the Hunsur Forest Division.
Output (Activities/ Quantity)	<ul style="list-style-type: none">Construction of Residential Quarters: Construction of new Type-II and Type-III staff quarters for frontline and range staff.Renovation of Existing Staff Quarters: Upgradation and repair of existing staff quarters across all ranges.

	<ul style="list-style-type: none"> • Development of Forest Rest House Complex kallbetta IB Modernization of Forest Rest House with conference room and guest facilities. • Staff Welfare Amenities: Supply of uniforms, shoes, torches, forest patrolling kits, and staff insurance. • Solar Power Units: Installation of rooftop solar systems in staff quarters and rest houses. • Rainwater Harvesting Systems: Construction of rainwater harvesting and storage structures in residential complexes. 						
Justification/Essentiality	<p>Frontline forest staff play a critical role in wildlife protection, anti-poaching operations, and forest management. However, they often work under challenging field conditions with inadequate residential and welfare infrastructure. This project aims to address these gaps by providing safe, comfortable, and sustainable living and working environments.</p> <ul style="list-style-type: none"> • The proposal will ensure: • Improved morale and efficiency of forest frontline personnel. • Better response time in wildlife conflict and protection duties. • Environmentally sustainable staff accommodation through solar energy and water conservation. 						
Outcome (3 measurable outcomes)	<table border="1" data-bbox="604 1617 1391 2001"> <thead> <tr> <th data-bbox="604 1617 993 1751">Outcome Area</th><th data-bbox="993 1617 1391 1751">Expected Results / Indicators</th></tr> </thead> <tbody> <tr> <td data-bbox="604 1751 993 1864">Enhanced Staff Welfare</td><td data-bbox="993 1751 1391 1864">Better quality of life and morale for frontline forest personnel.</td></tr> <tr> <td data-bbox="604 1864 993 2001">Operational Efficiency</td><td data-bbox="993 1864 1391 2001">Improved patrolling, faster response to emergencies, and higher work satisfaction.</td></tr> </tbody> </table>	Outcome Area	Expected Results / Indicators	Enhanced Staff Welfare	Better quality of life and morale for frontline forest personnel.	Operational Efficiency	Improved patrolling, faster response to emergencies, and higher work satisfaction.
Outcome Area	Expected Results / Indicators						
Enhanced Staff Welfare	Better quality of life and morale for frontline forest personnel.						
Operational Efficiency	Improved patrolling, faster response to emergencies, and higher work satisfaction.						

	Sustainability	Reduction in energy dependency through use of solar and rainwater harvesting systems.
	Infrastructure Improvement	Upgraded housing and essential facilities across all ranges.
Whether, the proposed project is as per approved/proposed Management plan/Working Plan	YES	

Brief Note on the Project:

Department's objectives of improving frontline staff infrastructure and welfare facilities.

- 1. Project Title:** Hunsur Forest Division – Frontline Staff Welfare and Residential Infrastructure Development Project
- 2. Implementing Agency:** Karnataka Forest Department
- 3. Project Location:** Range and Beat Headquarters across Hunsur Forest Division
- 4. Objective:** To strengthen staff welfare and residential facilities, enabling better forest management and staff well-being.
- 5. Scope of Work:**
 - Construction and renovation of staff quarters.
 - Development of rest house and welfare infrastructure.
 - Installation of solar power and rainwater harvesting units.
 - Landscaping and creation of green zones around housing areas.
- 6. Expected Outputs:**
 - Enhanced residential infrastructure for frontline staff.
 - Improved energy efficiency and water sustainability in residential complexes.
 - Strengthened operational readiness and staff welfare.
- 7. Long-term Impact:**
 - Improved staff retention and motivation.
 - Environmentally sustainable and self-reliant residential complexes.
 - Enhanced capacity of forest staff to manage and protect forest resources effectively.

Details of Staff welfare projects

Sl No.	Particulars	Quantity	Rate (Rs.)	Amount (Rs.)
1	Construction of new Type-II and Type-III staff quarters for frontline and range staff.	05 Nos.	25,00,000.00	1,25,00,000.00
2	Renovation/ Repair/ Upgradation of existing staff quarters	30 Nos.	1,25,000.00	37,50,000.00
3	Development of Forest Rest House Complex Kallbetta IB	01 Nos.	15,00,000.00	15,00,000.00
4	Construction of rainwater harvesting and storage structures in residential complexes	02 Nos.	50,000.00	1,00,000.00
5	Installation of rooftop solar systems in staff quarters and rest houses.	12 Nos.	50,000.00	6,00,000.00
6	Bunker cots and bedding materials for 10 anti poaching camps	30 No.s	15,000.00	4,50,000.00
7	Uniform, Camouflage jackets and Shoes	75 No.s	5,000.00	3,75,000.00
8	Large size Bright light torches	50 No.s	2,500.00	1,25,000.00
9	Billhook, pickaxe and spade for	100 No.s	1,000.00	1,00,000.00
10	Installation of solar water purifier	25 No.s	20,000.00	5,00,000.00
	Total			2,00,00,000.00



Manju K vanashre



Manju K vanashre



Manju K vanashre



Manju K vanashre



Maru K. vanastare



Google Earth
